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204 26, 250 260 X ANEE
B . T R| 161,630 (236,480)| 136,400 (211,250)| 1,500 (2, 260) x O [ 1,250 (2,000) X mEE
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9 R| 236,480 211, 250 250 xmEE | 2,000 X MR
Ll ER| 73,690 (81,170)| 56,870,  (64,350)| 670 (740) | x gk | 500 (570)| x mEE (7. 480) (70 x Mg %)
1
Z]j;% = & B| 81,170 (136,730)| 64,350 (119,910)| 740  (1,260) xiEE | 570  (1,090) xmEE 7,480 70X M E
o 17,500 170 e
AT . T#R| 136,730 (211,580)| 119,910) (194,760)| 1,260 (2,010) X [ 1,000 (1,840) X mHE
=5
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_|mas kR 61,470 (68,950)| 48,850  (56,330)| 540 (610)| x gk | 420 (490) | x gz (7. 480) (70 x )
1
3];5 = % B| 68950 (124,510)| 56,330 (111,890)| 610  (1,130) xinEE | 490  (1,010) xmEE 7,480 70X I E
o 13,120 130X MR
S| o | THR| 124510 (199.360)| 111,890 (186.740)| 1130 (1.880) xMEE | 1,000 (1.760) xmEEk
=5
9 ®| 199, 360 186, 740 880 xmEE | 1,760 X MR
_|maEsi k| 59510 (66,990)| 49,410  (56,890)| 520 (590)| x gk | 420 (490) | x gz (7. 480) (70 x )
1
4];5 = % B| 66,990 (122,550)| 56,890 (112,450)| 590  (1,110) xinEE | 490  (1,010) xmEE 7,480 70X IEE
o) 10,500 100X Mg sE
AT . T R| 122,550 (197,400)| 112,450 (187,300)| 1,110 (1,860) xpngsk [ 1,010 (1,760) X m#sE
=5
9 ®| 197,400 187, 300 860 xmEE | 1,760 X MR
_|maEs k| 53100 (60,580)| 44,690 (52,170)| 460 (530)| x gk | 380 (450) | x gz (7. 480) (70 x )
1
o ; 5 = & B| 60,580 (116,140)| 52,170 (107,730)| 530  (1,060) xinEE | 450 (970)| x sk - 7,480 70X M E
8, 750 80X M3
eo;f B . Z#R| 116,140 (190,990)| 107,730 (182,580)| 1,050 (1,800) x M | 970  (1,720) x K
=5
9 ®| 190, 990 182, 580 800 xmEE | 1,720 X MR
_|maEs LR 48600 (56,080)| 41,400  (48,880)| 410 (480)| x gk | 340 (410)| x gz (7. 480) (70 x )
1
o ; 5 = & R| 56,080 (111,640)| 48,880 (104,440)| 480  (1,000) xmnEE | 410 (930)| x Mgk - 7,480 70X M E
7,500 70X M
7°§f _|—-. =#®| 111,640 (186,490)| 104,440 (179,200)| 1,000 (1,750) xinEE | 930  (1,680) X MEE
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9 ®| 186, 490 179, 290 750 xmEE | 1,680 X MR
_|mas kR 45200 (52770)| 38,980  (46,460)| 380 (450) | x gk | 320 (390)| x gz (7. 480) (70 x )
1
n ; 5 = & R| 52770 (108,330)| 46,460 (102,020)| 450 (970)| x gk | 390 (910)| x gk - 7,480 70X M E
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1
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1
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1
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1
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_|mas kR 83670 (41,150)| 29,790  (37,270) 270 (340) | x gz | 230 (300)| x gz (7. 480) (70 x )
1
12;\2 = & R| 41,150 (96,710)| 37,270 (92.830)| 340 (860)| x gk | 300 (820)| x Mgk 7,480 70X M E
1300 4,030 40X fnEE
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aon 0% INEE 4,980 40x g
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_ |mmsiw| 9160 (1034200 71,600 (78,860) 8%  (960) xMEE | 640  (710) xmEE 7,260 (T0xmEE)
=5
= & RB| 103420 (157, 410) 78,860 (132, 850) 960 (1,470) xm&EX 710 (1,220) xm&ExX 7, 260 TOX ER
20N 25, 380 250 X inE =
_ . T R[ 157,410 (230,020)| 132,850 (205, 460) 470 (2,190) xmEE , 220 (1,940) xmn&ExX
=77
ED B[ 230,020 205, 460 , 190 X NEE . 940 X NEE
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=5
n ;\\ 5 = % R 51,460 (105, 450) 45,320 (99, 310) 440 (950) x &= 380 (890) xmE=x . 7, 260 70X EE
6, 340 60 X &=
80;\_5 _ . T R[ 105450 (178, 060) 99,310, (171, 920) 950 (1,670) X mnEE 890 (1,610) xmm&ExX
=77
ED R[ 178,060 171, 920 , 670 X NEE 610 X NEE
_ Pea Ll kR 41, 640 (48, 900) 36, 180 (43, 440) 350 (420) 1 xpnExR 290 (360)  xmnEXR (7, 260) (70 x InE=x)
=5
8 ;\\ 5 = % R 48,900 (102, 890) 43, 440 (97, 430) 420 (930) xm&E=x 360 (870) 1 xpnEx . 7, 260 70X MEE
5, 640 50 X &3
90;\-6 _ . T R[ 102,890 (175, 500) 97,430, (170, 040) 930 (1,650) xpn&ExX 870 (1,590) xmn&ExX
=77
ED B[ 175,500 170, 040 , 650 X NEER . 590 X NEE
_ Pea Ll ER 36, 410 (43, 670) 31,500 (38, 760) 290 (360) | xpnE= 240 (310) xmEXR (7, 260) (70 x InE=x)
=5
BO0 g ;\\ >y = B R 43,670 (97, 660) 38, 760 (92, 750) 360 (870) xm&E=x 310 (820) 1 xpnEx . 7, 260 70X EX
e 5,070 50 X fin& =
R ]O(;}\_E _ - Z®ER 97,660 (170, 270) 92,750, (165, 360) 870 (1,590) XnEE 820 (1,540) xm&ExXR
=77
ED B[ 170,270 165, 360 , 590 X NEER . 540 X NEE
_ Pea Ll kR 35,070 (42, 330) 30, 600 (37, 860) 280 (350) F xpnExR 230 (300)  xmnE=XR (7, 260) (70X InE=x)
=5
]OL\}\B = % R 42,330 (96, 320) 37, 860 (91, 850) 350 (860) x &= 300 (810) xpnEx . 7, 260 70X EX
4,610 40 X INE =
”(;}\f' _ CoIER 96,320 (168, 930) 91,850 (164, 460) 860 (1,580) xmnEE 810 (1,530) xm&ExX
=77
ED R([ 168,930 164, 460 , 580 X NEER , 530 X NEE
_ PeaE Ll ER 33,910 (41,170) 29,820 (37, 080) 270 (340) | xpnExR 230 (300)  xmnEXR (7, 260) (70 x InE=x)
=5
”L\}\B = % R 4,170 (95, 160) 37,080 (91, 070) 340 (850) x &= 300 (810) 1 xpnEx 7, 260 70X MEXR
120 A 4,230 40X MEE
7 | = CoIER 95,160 (167, 770) 91,070, (163, 680) 850 (1,5670) X nEE 810 (1,530) xmm&ExX
=77
ED R| 167,770 163, 680 , 570 X NEE . 530 X NEE
_ Pea Ll ER 32,930 (40, 190) 29,150 (36, 410) 260 (330) xpnEx 220 (290)  xmnEXR (7, 260) (70 x InE=x)
=5
]ZL\}\B = % R 40,190 (94, 180) 36, 410 (90, 400) 330 (840) xmE=x 290 (800) i xpnEx 7, 260 70X X
1300 3,900 30X MEE
7 | = - ZER 94,180 (166, 790) 90, 400, (163,010) 840 (1,560) XmnEE 800 (1,520)  xfmn&ExX
=77
ED R|[ 166, 790 163, 010 , 560 X NEE , 520 X NEE
_ Pea Ll kR 32,120 (39, 380) 28,610 (35, 870) 250 (320) xpnExR 210 (280)  xmnEXR (7, 260) (70X InE=x)
=5
]315\}\;9 = % R 39, 380 (93, 370) 35,870 (89, 860) 320 (830) xmE=x 280 (790) 1 xpnEx= 7, 260 70X X
140 N 3,620 30X MEE
7 | = CoIER 93,370 (165, 980) 89,860 (162, 470) 830 (1,550) xmn#EE 790 (1,510) xmm&ExX
=77
ED R([ 165, 980 162, 470 , 550 X NEE 510 X NEE
_ Pea Ll kR 31, 400 (38, 660) 28,120 (35, 380) 240 (310) xpnEx 210 (280)  xmnE=XR (7, 260) (70X InE=x)
=5
]415\}\;9 = % R 38, 660 (92, 650) 35, 380 (89, 370) 310 (820) xm&E=x 280 (790) 1 xpnEx 7, 260 70X MEX
150 A 3,380 30X MEE
7 | = CoIER 92,650 (165, 260) 89,370 (161, 980) 820 (1,540) xmEE 790 (1,510) xmm&ExX
=77
ED R|[ 165, 260 161, 980 , 540 X NEE 510 X NEE
_ Pea Ll B R 31,630 (38, 890) 28, 560 (35, 820) 240 (310) xpnEx 210 (280)  xmnE=XR (7, 260) (70 x InE=x)
=5
]515\}\;9 = % R 38,890 (92, 880) 35, 820 (89, 810) 310 (820) xm&E=x 280 (790) 1 xpnEx= . 7, 260 TOX &R
3,170 30X INE =
]6(;}\_5 _ - ZER 92,880 (165, 490) 89,810 (162, 420) 820 (1,540) xmHEE 790 (1,510) xmm&ExX
=77
ED R([ 165, 490 162, 420 , 540 X NEE 510 X NEE
_ mea Ll B R 31, 040 (38, 300) 28,150 (35, 410) 240 (310) xpnEx 210 (280)  xmEXR (7, 260) (70 x InE=x)
=5
]615\}\;9 = % R 38, 300 (92, 290) 35,410 (89, 400) 310 (820) xm&E=x 280 (790) | xpnEx= 7, 260 TOX &R
1700 2,980 20X NEE
7 | = CoIER 92,290 (164, 900) 89,400, (162, 010) 820 (1,540) xmEE 790 (1,510) xmm&ExX
=77
ED B[ 164,900 162, 010 , 540 X NEE 510 X NEE
_ PeaE Ll ER 30, 490 (37, 750) 27,710 (35, 030) 230 (300) xpnE= 210 (280)  xmnE=XR (7, 260) (70X InE=x)
=5
1710 = % R 37, 750 (91, 740) 35, 030 (89, 020) 300 (810) 1 xpnEx 280 (790) 1 xpnEx= 7, 260 TOX &R
St 2,820 20X NER
_ —. ZER 91,740 (164, 350) 89,020 (161, 630) 810 (1,530) xm#EE 790 (1,510) xmm&ExX
=77
ED B[ 164,350 161, 630 , 530 X NEE 510 X NEE
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EFAEE AFAEE
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Hei Heis Ha Ha HEEIE s
_ Ml £ R 95,550 (102, 750) 71,160 (78, 360) 880 (950) x &= 640 (710)F xpnEx (7, 200) (70x EXR)
=5
= & RB| 102,750 (156, 350) 78,360, (131, 960) 950 (1,450) xpn&ExX 710 (1,210) xmm&ExX 7, 200 TOX ER
20N 25,170 250 X i =
_ . T R| 156,350 (228, 400)| 131,960 (204, 010) , 450 (2,170) xmEE ,210 (1,930) xmn&Ex
=77
ED B[ 228,400 204,010 , 170 X NEE , 930 X NEE
Pea Ll kR 71, 450 (78, 650) 55, 190 (62, 390) 640 (710) xpnEx 480 (550) | xpnE=R (7, 200) (70 x InE=x)
=5
2 ;\\ 5 = B R 78,650 (132, 250) 62,390 (115, 990) 710 (1,210) xm&E=R 550 (1,050) xpn&ExX 7,200 TOX MER
304 16, 780 160X &R
7 | = . T R[ 132,250 (204,300)| 115,990 (188, 040) ,210 (1,930) xmnHEE , 050 (1,770)  xfmn&ExX
=77
ED R([ 204,300 188, 040 , 930 X NEE L7170 X NEE
_ Pea Ll ER 59,570 (66, 770) 47, 380 (54, 580) 520 (590) | xpnExR 400 (470) 1 xpnEx (7, 200) (70X InE=x)
=5
8 ;\\ 5 = B R 66, 770 (120, 370) 54,580, (108, 180) 590 (1,090) xmn#EE 470 (970) 1 xpnEx 7,200 TOX &R
N 12, 580 120X &R
v | = —. T R| 120,370 (192,420)| 108,180 (180, 230) , 090 (1,810) xmm&EX 970 (1,690) xfn&ExX
=77
ED B[ 192,420 180, 230 , 810 X NEE , 690 X NEE
_ Pea Ll ER 57, 660 (64, 860) 47,900 (55, 100) 510 (580) 1 xpnExR 410 (480) 1 xpnEx= (7, 200) (70 x InE=x)
=5
# ;\\ 5 = B R 64,860 (118, 460) 55,100, (108, 700) 580 (1,080) xmn#EE 480 (980) i xpnEx 7,200 70X EE
500 10, 060 100x &R
7 | = . T IR[ 118,460 (190,510)| 108,700 (180, 750) , 080 (1,800) xmn#EE 980 (1,700)  xfn&Ex
=77
ED B[ 190,510 180, 750 , 800 X NEE , 700 X NEE
_ Pea Ll kR 51,470 (58, 670) 43, 340 (50, 540) 440 (510) | xpnExR 360 (430) 1 xpnEx (7, 200) (70 x InE=x)
=5
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=77
ED B[ 184,320 176, 190 , 730 X NEE , 650 X NEE
_ PeaE Ll ER 47,130 (54, 330) 40, 160 (47, 360) 400 (470) 1 xpnExR 330 (400) | xpnExR (7, 200) (70 x InE=x)
=5
o1 ;\\ 5 = % R 54,330 (107, 930) 47,360, (100, 960) 470 (970) xm&E=x 400 (900) x &= . 7,200 70X MEXR
7,190 70X nE =
70;\'5 _ —. ZmR| 107,930 (179,980)| 100,960 (173, 010) 970 (1,690) xmm&ExX 900 (1,620) xpmn&ExX
=77
ED B[ 179, 980 173,010 , 690 X NEE , 620 X NEE
_ Pea Ll kR 43,920 (51,120) 37,820 (45, 020) 370 (440) 1 xpnExR 310 (380) 1 xpnEx (7, 200) (70 x InE=x)
=5
n ;\\ 5 = % R 51,120 (104, 720) 45, 020 (98, 620) 440 (940) xmE=x 380 (880) x &= . 7,200 70X EE
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=77
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_ Pea Ll kR 41,380 (48, 580) 35, 960 (43,160) 340 (410)F xpnExR 290 (360) | xpnExR (7, 200) (70 x InE=x)
=5
8 ;\\ 5 = % R 48,580 (102, 180) 43,160 (96, 760) 410 (910) xm&E=x 360 (860) i xpnExR 7, 200 70X MEE
90N 5, 590 50X MER
7 | = . ZTRR[ 102,180 (174, 230) 96, 760, (168, 810) 910 (1,630) xmm&ExX 860 (1,580) xmn&ExX
=77
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_ Pea Ll ER 36, 210 (43, 410) 31,330 (38, 530) 290 (360) | xpnE= 240 (310) xpnEx (7, 200) (70 x InE=x)
=5
=R g ;\\ >y = B R 43,410 (97,010) 38,530 (92, 130) 360 (860) x &= 310 (810) xpnEx 7,200 70X EX
i 100A 5, 030 50X MER
7 | —a - Z®ER 97,010 (169, 060) 92,130, (164, 180) 860 (1,580) xmn#EE 810 (1,530) xm&ExX
=77
ED R([ 169, 060 164, 180 , 580 X NEER , 530 X NEE
_ Pea Ll kR 34,870 (42, 070) 30, 430 (37, 630) 280 (350) F xpnExR 230 (300) F xpnEx= (7, 200) (70X InE=x)
=5
]OL\}\B = % R 42,070 (95, 670) 37,630 (91, 230) 350 (850) xmnE=x 300 (800) x &= . 7,200 70X EX
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”(;}\f' _ CoIER 95,670 (167, 720) 91,230, (163, 280) 850 (1,5670) X n#EE 800 (1,520)  xfmn&ExX
=77
ED R| 167,720 163, 280 , 570 X NEER , 520 X NEE
_ PeaE Ll ER 33,720 (40, 920) 29, 650 (36, 850) 270 (340) | xpnExR 230 (300)F xpnEx= (7, 200) (70 x InE=x)
=5
”15\}\79 = % R 40, 920 (94, 520) 36, 850 (90, 450) 340 (840) xmE=x 300 (800) x &= . 7,200 70X MEXR
4,190 40X NE =
]Z(;}\_G _ CoIER 94,520 (166, 570) 90, 450, (162, 500) 840 (1,560) X inEE 800 (1,520)  xfmn&ExX
=77
ED B[ 166,570 162, 500 , 560 X NEE , 520 X NEE
_ Pea Ll ER 32, 750 (39, 950) 28,990 (36, 190) 260 (330) xpnEx 220 (290) | xpnE= (7, 200) (70 x InE=x)
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